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Model Question Paper Exam — 2022

CLASS-10

SUBJECT - ENGLISH (COMP.)

Time - 2 Hours 45 Minutes

1. Objective Marks Distribution -

Total Marks - 80

S. No. Objectives Marks Percentage
1. Knowledge 24 30.00
2 Understanding 21 26.25
3. Application 18 22.50
4 Skill 17 21.25
Total :- 80 100.00
2. Division of Sections -
SECTION |  TYPES OF QUESTIONS QUE. NUMBER OF | MARKS TOTAL TIME
SERIOL | QUESTIONS WEIGHTAGE OF
MARKS
A McQ 1-9 12 1 12 17 Min.
FILL IN THE BLANKS - 6 4 6 14 Min.
VERY SHORT ANSWER TYPE 20 Min.
QUESTIONS i 12 ! 12
B SHORT ANSWER TYPE 42 Min.
QUESTIONS 10-18 13 2 26
C ESSAY TYPE QUESTIONS -1 19-22 4 3 12 32 Min.
D ESSAY TYPE QUESTIONS -2 23-25 3 4 12 40 Min.
1to 25 50 80 165 Min.
Choice Scheme : Internal
3. Mark Distribution of Content -
S. No. Content Marks Percentage
1 Reading 15 18.75%
2 Grammar 15 18.75%
3 First Flight 25 31.25%
4 Footprint without Feet 13 16.25%
5 Letter / E-Mail 04 05.00%
6 Story 04 05.00%
7 Paragraph 04 05.00%
Total :- 80 100.00%
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1 | Reading ®8 | (7 (15) 15
2 | Grammar 44 1 (1H11 (15) 15
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without Feet
5 | Letter / E-Mail (14 (1)4
6 | Story (D)4 1) 4
7 | Paragraph (14 1)4
44 | (A1) 11| (36 [ (13| - ®8 | (M7 - |6 - - - M1 | - | (4 - - (36 | (1)3 |(2)8| (50)80
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BOARD OF SECONDARY EDUCATION, RAJASTHAN AJMER
MODEL PAPER -2022

CLASS-10
ENGLISH (COMP.)
Time :- 2 Hours 45 Min. Marks :- 80

GENERAL INSTRUCTION TO THE EXAMINEES:

1. Candidate must write first his/her Roll No. on the question paper
compulsorily.

2. All the questions are compulasory.

Write the answer to each question in the given answer book only.
For questions having more than one part the answers to those parts
are to be written together in continuity.

B W

SECTION-A
Reading

1. Read the following passage and answer the questions :

Every individual wants peace of mind. But it is hard to find a person who can say that
he has attained such a state of mental equilibrium as will allow him to live a life of
tranquillity. Peace of mind is a distant dream for all of us. What is the reason for this ? The
reason is that people hanker after ideal peace, that is pure peace-a peace that is free from all
kinds of non-peace items.

But this kind of absolute peace is not in nature’s store house. Let us take the analogy
of rose. A rose is a very beautiful flower, but every stem has its thorns. Indeed, thorns are an
integral part of the rose plant. A poet has rightly said that thorns serve as security guards for
the flower. There must be non-peace items along with peaceful items. A peaceful mind is a
very precious aspect of human nature and it too needs safety to maintain it’s sublime quality.

(i) Itis adistant dream for all of us :
(a) Peace of mind

(b) fulfilling our ambition

(c) meeting our targets

(d) climbing the mountains [ 1] 1



(i) The security for the flowers are :

(a) gardens

(b) other plants

(c) thorns

(d) roots [ 1] 1

(iii) Nature always leads people into .................. situations .

(a) challenging

(b) comfortable

(c) difficult

(d) None [ ] 1

(iv) Fill in the blank :

(@) ThOrNS @re an ........cceeveveevieiie e part of a rose plant . 1
(integral / outer)

(V) Write the answer of the following :

(a) What is pure peace ? 1

(b) Why does a peaceful mind need safety ? 1

2. Read the following passage and answer the questions :

The conquest of happiness has meant different facts to different generations. Our
forefathers took pride in scholarship, a spirit of sacrifice and solicitude for the welfare of
others. Gone are those days. Today we live only for ourselves. We are jealous of the
advancement of our neighbours. We end up tense and unhappy.

The term ‘happy’ has a variety of meanings. It stands for the lucky, fortunate, content,
glad or apt. Happiness lies within the mind of the individual. No amount of external wealth
may be helpful in making him happy.

Our forefathers had life styles, very much different from those we have today, Their
life was based mainly on the concept of ‘Simple living and high thinking.” People were
satisfied with whatever they obtained after working hard. Excessive material wealth did not
mean much for them they derived mental satisfaction and enrichment which they aimed at.

The structural framework of our forefathers families was different from those of ours,
They lived in a cohesive joint family structure where they were happier than us. They cared
for each other. The siblings grew up with their cousins. The bond of love which they share
cannot be easily found in the nuclear family of the day. The family provided an emotional
cushioning effect against tension and stress.



(1) Our forefathers took pride in :

(@) scholarship

(b) spirit of sacrifice

(c) welfare of others

(d) all of these [ 1]
(i) How do we feel for our neighbours today ?

(@) jealous

(b) humble

(c) polite

(d) none [ ]
(iii) Happiness lies withinthe ............c.ccoeennen, of the individual :

(@) heart

(b) mind

(c) eyes

(d) none [ ]
(iv) Our forefathers life was based mainly on :

(@) the concept of simple living

(b) the concept of high thinking

(c) both
(d) none [ ]
() I cannot be found in the nuclear family of the day :

(a) tension

(b) bond of love

(c) stress

(d) all [ ]
(vi) Fill in the blanks :

(@) The family provided an ..........ccccccvevieiieennnnns cushioning effect .

(b) Excessive material ..........ccccoevvververeniieninenens did not mean for forefathers .



(vii) Write similar word of the following words from the passage :
(@) development

(b) ancestor

GRAMMAR
3. Choose the correct form of the verb :
() 1 I (read) a very interesting story now.
(@) isreading (b) am reading (c) read (d) will read [ ]
(i) She oo, (write) hundred poems so far.
(a) wrote (b) will write (c) had written  (d) has written [ ]
(i) He e (get) a prize ten days ago.
(@) got (b) get (c) gets (d) will get [ ]
(iv) Rohit ......ccvenennen, (learn) English for five years.

(@) is learning  (b) was learning (c) has been learning (d) will learn [ ]
4. Change the following sentences into Indirect Speech :
(i) My friend said to me, “ Do you live in this house?”
(i1) He said to me, “Please bring me a glass of water.”
5. Combine the following pairs of the sentences :
(i) The boy is my friend. You met him. (Whom)
(i) We know a lot of boys. They play here. (Who)
6. Change the following sentences into passive-voice :
(i) Stop making a noise .
(i) I wrote the letter in English.
7. Frame question to get the following answer :
Yes, | took your book.
8. Add question — Tag to the statement given below :

Please keep quiet. ......ccccoveviieiiiiiiciiecis



9. Fill in the blanks :
() I it was raining, | was ploughing the field. (while / when)
(i1) He made all efforts ..........cceevevvrennennnee. he couldn’t find his purse. (yet / so)

(iii) Archit ................... Archita are teachers in this school. (and / or)



SECTION-B

Answer the following questions in 40-50 words :
10. Why does the postmaster send money to Lencho ? 2

(A Letter To God)

11. What happens to the house when the trees move out of it ? 2
(The Trees)

12. Why does Anil not hand the Thief over to the Police ? 2
(The Thief’s Story)

13. Why does Mrs. Hall find the scientist eccentric ? 2

(Footprints without Feet)
14. How does Bholi’s teacher play an important role in changing the course of her life ? 2
(Bholi)
15. Read the passage given below and answer the questions that follow :

The baker or bread-seller of those days had a peculiar dress known as the Kabai. It
was a single piece long frock reaching down to the knees. In our childhood we saw bakers
wearing a shirt and trousers which were shorter than full-length ones and longer than half
pants. Even today, anyone who wears a half pant which reaches just below the knees invites
the comment that he is dressed like a pader.

(i) What is Kabai ? 2
(i1)) Who invites the comment “he is dressed like a pader?” 2
16. Read the passage given below and answer the questions that follow :

One Sunday as she was taking a walk in the champs Elyrees to rid herself of the cares
of the week, she suddenly perceived a woman walking with a child. It was Mme forestier,
still young, still pretty, still attractive. Mme Loisel was affected, should she speak to her ?
Yes certainly. And now that she had paid, she would tell her all. Why not ?

(i) How was Mme Forestier looking ? 2
(i) What did Mme Loisel decide ? 2
17. Read the stanza given below and answer the questions that follow :

Some say the world will end in fire
Some say in ice.
From what | have tasted of desire
I hold with those who favour fire.



(1) What would be the causes of the end of world, according to the people ?
(if) Why does the poet think the reason to be fire ?
18. Read the stanza given below and answer the questions that follow :

He stalks in his vivid stripes
The few steps of his cage
On pads of velvet quiet
In his quiet rage.
(1) What is the tiger doing in his cage ?
(i1) What does the tiger in the cage long for ?

SECTION-C

Answer the following questions in 100 words :

19. Why was the young seagull afraid to fly and how did he get success ?
(His First Flight)
OR
How did the narrator experience when he flew the aeroplane into storm ?
(The Black Aeroplane)
20. Why does Anne want to write a diary ?
(From the Diary of Anne Frank)
OR
Why was the inauguration ceremony the greatest occasion for South Africa ?
(Nelson Mandela : Long walk to Freedom)
21. Draw a character — sketch of Maddie .
(The Hundred Dresses — 1)
OR
What did Maddie think of Wanda ?
(The Hundred Dresses — I1)
22. Compare and contrast the character of Think Tank and Noodle.
(The Book That Saved The Earth)

OR



How did Ausable get rid of Max ?
(The Midnight Visitor)

SECTION =D

23. Imagine that you are Siddhu, Living at 20, Shastri Nagar, Jaipur. Write a letter to the

Editor of local newspaper on keeping Jaipur City clean. 4
OR

Write an E-Mail to your friends requesting them to share the syllabus for all subjects of

your class.
The E-Mail ID is ; goodscholars@gmail.com

24. Write a story using the outline given below. Assign a suitable title and moral to it :
(Words Limit 150-200) 4

ADbee .ccoevcrieeeeen, falls into water ......ccccceeuvenen. drowns ............... dove
.................. in the tree.................... feels pity .................. plucks leaf
.............. drops............. bee climbs ............. flies away .................... saved
.................... later ...........ccceenneeee. hunter aims at the dove .............. dove
unaware ................. bee attacks in swam .................. gun goes off
........................ misses aim ...........cccceeueeee... dove flies off ...l
saved . friend in need .............c....... friend indeed.
OR

Write a story using the outline given below. Assign a suitable title and moral to it :
(Words Limit 150-200)

A shepherd .......cccocvveeenns grazes Sheep ....cccccecevveeeeecunnennn. thinks of a
mischief ......ccccceenee. cries “Wolf I Wolf 17 i,
villagers run to help ....ccoocvvevrnnnnen. no wolf ......cccceeeiiiis villagers
..................... angry ................. one day a wolf really comes
..................... cries for help ........ccceeueeeeee... people do not believe
...................... kills many sheep .



mailto:goodscholars@gmail.com

25. Write a paragraph on the given visual — aid. (Words Limit 150-200)

OR

Write a paragraph on the given visual — aid. (Words Limit 150-200)
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1, TGy B HPIR —
. LD SICRIN gfcrerd
1. |94 33 41.25%
2. | a9 24 30.00%
3. | srfyafad / SHganRT 11 13.75%
4 HifeTdhdT / DI 12 15.00%
AT 80 100.00%
2 Ul & YBRAR IfHAR —
9. e RS PECIGA] RSLap]
1. aﬁﬁm 18 1 2250 36.00% 23 Min
2. | SffeTeRIcHD 12 1 15 24.00% 17 Min
3. | THYNTH® 13 2 3250 26.00% 45 Min
4. | SIS U 04 3 15.00 08.00% | 35 Min
5 | f9ars 03 4 15.00 06.00% 45 Min
AT 50 = 100.00 100.00% 165
[JheT ST : M<IRD
fawa g% @1 PR —
.9, [ERRIEKSS! PR PIRE
1| IEAI—1 IS AMHIATT U HHIDHRT 8 10
2 | JEYTI—2 3T &R TG oqu[ 9 11.25
3 | 3=Er—3 drg iR g 7 8.75
4 | II™—6 oI UhH 9 11.25
5 | IRI—7 =0T U qHag 8 10.00
6 | JEII—9 IMIARIBAT Ud oIg fJard 7 8.75
7 | IUR—10 UHT URTEI AT (e 9 11.25
8 | 3mgr—12 fagd 8 10.00
9 | 3EI—13 fIYd gRT & FRHIY g4 8 10.00
10 | 3ITI—15 BHRT YITIRIT 4 5.00
11 | SEATI—16 UThiad HATEAT PI AU T 3 3.75




PET — 10 fayy — fasim= qulih ~ — 80
) T T /T T M ad AT /et lere / Hiert A
il

NI NI
€ |’ € |F & B E B

1 | EAE—1 TS iy 2(1) *2(1) .

d | 2(1) 1(1) 1(-) 8(4)
2 | A2 I &P T AT | ) 1) 3(3) *1(1) (_)*2 *1(-) | 9(6)
3 | srara—3 g SR Sy 2(1) 1(1) 4(2) 7(4)
4 | -6 1T UshH 22) 1) 1(1) *3(1) 2(1) 9(6)
5 | A7 P W W | g *1(1) 1) *2() | 1) *10) | 809
6 | A9 ITFARIHA TF S *2(1) 2(1) 20)* | 1() 7(3)
7 | SEATI—10 UPHT WIS q&q 2(1) *1(1) *2(-) *

i 2(2) 1(1) 1) | 9(5)
8 | Eag—12 T 22) 1(1) 4(2) 1(1) 8(6)
9 W—1;Tﬁmﬂﬁ gRT BT 1) *2(1) 1(1) | 2(1) 1(1) 1(-) 8(5)
10 | 3EAI—15 EHRT GAIGROT 10 | o) 1(1) 4(3)
11 | SEATA—16 WTpia® TR B 1) 1(1) 1) 3(3

FafT gewE 3)

9(9)3(3) | 4(4) | 12(6) | 4(2) | 1(1) 2(2) 6(6) | 6(3) |3(1) |42 10) - 122 | 2(1) |2(1) | 40) 6(3) |3() |3() |80(50)
33)
e (G B 1 S« A # P ffaRe R 8 Aic— BIod § a3 66 al 3 qer HioR ye= 31 =Das 2




Arefie BRI 9IS o, 3eTaR
Hied U3 U3 AAfde URIET 2022
faya—fasm=
h&T—10

A 2:45 fee quiie 80

et & forg g fAder —
GENERAL INSTRUCTION TO THE EXAMINEES:

1. qeTeft FduE U9 YT UH WX AMih Iifarid: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge o Qifvard 7|

All the questions are compulasory.
3. U U BT IR &l g IR JRAHT § &1 ford |
Write the answer to each question in the given answer book only.
4. T3 oAl # T<IR® WUS & I F9 & IR Y AT & ford |
For questions having more than one part the answers to those parts are to be written
together in continuity.

5. U UF & f2=) WR 3T wumel # Bl yeR @1 Fe/ R/ RN g9 W =
AT & U P Tl A |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.

(@vs 3)
qgfddpedl e
geT-01 7 el & SR BT HEl fddeq =709 o} Sk IRaer A fafag —

() 9T H FH STRErRT ® — 1
(31) WIe T @1 a8q (@) STt &1 g8d

(%)3iTerRATST BT T8 () 3= arvet BT aE

The Phloem in plants are responsible for —

(A) Transport of food (B) transport of water

(C carrying oxygen (D) carrying amino acids

(i) WI=T H SMARRT Ud T T WIT © Sl Hefrd 8 — 1
(1) zad= (@) So

() T (®) uRas

The stomach in humanbeing are a part of a system for —

(A) respiration (B) excretion

(C) nutrition (D transportation



(iii) f=ferRaa & & PI9<T Urey B[ &§ —

S)REENER (@) T
(@) sgfer (@) omRifea
Which of the following is a plant hormone ?

(A) Gibberellins (B) Oestrogen
(C) Insulin (D) Thyroxin

(iv) PIRBT favTsT BT Hrar M IR dxar ©

(@) ufsaftia arat (@) SRRRA

() SfffeRa= (T) ATSTIHTSAA
Which hormone is activated the cell division

(A) Abscisic acid (B Testosterone
(C) Auxins (D) Cytokinin

(v) ST of & oty a8 fa=g R R arrufard fvor e g el Maver Sl 8, 99 fd=g
Pl BB & —

31) B g @) eR®

() BT b= (@) Tl Bs

For a convex lens, the point at which the incident ray passes straight without bending is known us
(A) point of focus (B) Aperture

(C) Optical center (D) Center of curvature

(vi) TpTeN & URTE DI TSAT H ATuae DIof (i) TAT WG IoT (1) H F AR
BT ®

@Gi=r @i>r

@i<r @I#T

The correct relation between the incidence angle (i) and the reflection angle (7°), in the

phenomenon of the reflection of light.

AL =T B)i >

@Qi<r D)i # T

(vii)) foaR @ AT &1 IF ® 1
(@1) regrieR @) dree Hiex

(%) spirex () dreereR

instrument of the measuring the potential difference is -

(A Galvanometer (B) Volt meter

(C) Ammeter (D) Voltameter

(viii) TP ATe® TR & YR BT 719 7R dxar & —

(31) SHDT THEE W aw—cﬁa—ﬂwaﬂzzﬁmw
(W) S¥d d™ W) @) Sudaa

Resistance of a conducting wire depends on -

(A on Its length (B) on its area of cross section

(C)on its temperature (D) all of these



() Frege oif @1 Tife ST # wuiARa R B e B FES @ -

(a1) Sifr= (@) Hrex

(|) dlee #ex (]) eFfiex

The device which converts the electrical energy into mechanical energy known as -
(A) Generator (B) Motor

(C) Voltmeter (D) Ammeter

(X) Fe,03+2Al — 5 A1,0;+2Fe
SR & T AMAHAT FT TR D g —
(a1) TS arfAfmar (@) fefavemy= sifdfhar

(%) forsr rfafa (@) fazermas siffpan
Fe,0;+2Al —>  A1,0; + 2Fe

The above reaction is an example of a -

(A) Combination reaction (B) Double displacement reaction
(C) Decomposition reaction (D) displacement reaction

(xi) 3TET BT SUAR x4 & forg g # A fovsy aNwfdy &1 SuAT Brar & ?
(@1) deramfed (wfaoifaw) OREIENINEECISIEN)

) Q%ﬁ«vtc: (@) TRifted (UfoRE)

Which one of the following types of medicines is used to treating in digestion?

(A) Antibiotic (B) Analgesic

(C) Antacid (D) Antiseptic

(xii) @Ter gered @ S W) e B g feq &1 9" BT § |®arfe —

@1) fe=1 @1 3rver RNiw wewm & @) feT @1 erer S &1 T IRF ©
(@) o1 9 orten R e affpareiar 8 (3) o @1 e Ric ow aififbareer
Food cans are coated with Tin and not with zinc because -

(A) zinc is more expensive than tin. (B) zinc has a higher melting point than tin.

(C) zinc is more reactive than tin. (D) zinc is less reactive than tin.

ue - 02 Rad wret & gt Hifo—

(i) TR H g4I T 90T BidT 2 |
The secretion of ............ hormone in males.

(ii) 3TAR¥re SUIETE] B INR | 98RBT B UHH B ... HEd ¢ |

Waste byproducts are removed from the body there processes is called as........ccccevvvveveenne.

(iif) 3O ORA G A I aTefl H GReT YS Bl ¢ |

ozone layer protects against the .........ccccccuun... from the sun.

(iv) PTICT T USRI oo U ® SN B |
The example of .....cccccevveeenns fuel are coal and petroleum.

(v) TR QUOT & ¢[d T Iehcll dvs @ dId DI GO DI M T BT o HEA ¢ |

Half the distance between the pole and the center of curvature of the spherical mirror is
called as the ...ovevececcece e,



(vi) faega wifad &1 w9 ... = 1

The unit of Electric poweris .................

U% ¥, 03 JAfTAYARITD U9 (Tl $T SR U e AT T Ufda # <ifor)

(i) aferd 9o &1 rgyer g arT § BT 7 1

In which part of the digested food is absorbed?

(ii) LS I0T 5 BN @1 HHI | =T 7 7 1

Diabetes is caused by the deficiency of which hormone?

(iii) NBIoRex # fhd R &1 SUANT fHar Sirar 2| 1

Which chemical is used in refrigerator?

(iv) "3mar <d1 faeg I qReeR” fhay Sefa 7 ? 1
“Amrita Devi Vishnoi National Award” is related to?

(v) TS 9R 99 & &1 9 ke | 1

Write the name of Dam built on the river Ganga

(vi) IfS I TS & ITeid dR BT IR RQ B T S I7a7d aR W 2 RQ IR ured
B B ol fhasl T8 &1 IR oA 89T 2 1
If resistance of a conductor wire of length I is R QQ Whatwill be the length of same conducting
wire to obtain 2 R Q resistance ?

(vii) ST FHIHIT &5 Q@Y U AX Bl RIT Ui T8l &l § 7 1

Why two magnetic field lines don’t intersect each other?

(vii) T aRuer # g1 garg & a1 &1 don fhe foen # &, 9+ & forg & g faga
JUBRUT BT SUINT BRI & 2 1

Which electrical device do we use to know whether current is flowing in a circuit or not and in which
direction?

(ix) POR STl B g B @ forv v Aifea™ A &1 SuanT o simar g 2 1

Which sodium compound is used for softening hard water?

(x) TTST G BT pH AT 6 BIAT 8 | S T8l 99 oI WX ST pHA uRafdd &1 SIrdr 8 [@i? 1

The pH value of fresh milk is 6. How do you think the pH will change as it turns into curd ? Explain your

answer.

(xi) STAFIT Tt fIeld &1 aTeted I &1 B SIafd 991 STt 8 8 2 1
Why is distilled water not a conductor of electricity while rain water does?

(xi)) CaOCl, 1T BT Taferd I a1 & ? 1

What is the common name of compound CaOCl,

(vs 9)
ALRIAD YU ¥. 04 I 16 B SR fARAY | (Treg AT 50 773

4. Ao & UTad H AR @ 7 e 7§ ? 2

What is the role of saliva in digestion of food?



5. YT TG STYHTA] oI&ToT bl THSSY 2 2

Explain the traits of dominant and recessive ?

6. THA®BR U4 fgHdR TS H &0 Uy 31guTa foffay | 2
Write the phenotypic ratio of monohybrid and dihybrid.

7.9 fHHRo 5 wEd § °? 2

What is called biodegradable ?

8. U & JUdad & =19 o1y | 2

Write the laws of refraction of light.

9.9 2Q,3Q3d6 QT I URIIG! &I Ured HH H FaAITd fHar Smar & a1 |aied & e
AR T ITOMT BIFTY | 2

If three resistors 2 QQ, 3 Q & 6 Q) are connected in parallel, then calculate the equivalent resistance
of this combination.

10. fa=ga uRueyr & forg o &t o foalaw | saa forg emawas g3 W fafag | 2

Write the Ohm's law for an electric circuit. Also write the necessary formula for it.

11. IRTEATE! ATAD BS DI BT &5 H THdq 1 IR I R I dlel a1 B 32 Bl e
& ol TRIffiTT & a1 B1er &1 7 foray g iaeass = 918 | 2

Write down the Fleming's left hand rule and draw the necessary diagram to explain the direction of force
acting on it when a current-carrying rod is placed vertically in a magnetic field.

12. AIg @1 IG3AT BT §H UT &I B © ? 2

Why do we paint iron objects?

13. Ggfeld MRNe AHIGRT FIT & 7 RIS FHISIOT Bl Ajfold HRAT FT aehh 87 2

What is a balanced chemical equation? Why is it necessary to balance a chemical equation?

14, IS NRABT BT Te-id STd T BT & 2 2
Why do ionic compounds have high melting points?

15. dfd & faega smuge-l uRsHRY &1 Arifdhd = a8 | 2
Draw labeled diagram of electrolytic refining of copper.

16. TANT §RT FH3sY b o1 ST & FaTeld 8ld & 7 3aedd (oF W1 918 | 2

Explain by experiments that metals are good conductors of heat. also draw the required diagram.

(@vs =)
el ST Y- 17 ¥ 20 B SR faRay (v S 100 IR)

17. IIIAT AT JAIAT a9 H T 3TN 2 | 3

what is the difference between aerobic and anaerobic respiration

37e7dT OR
TR YRR H SHEFANET & HH I R=T JI1d TSTT 2 3

What will be the consequences of deficiency of hemoglobin in our body?



18. FHOII dT AH®Y 3T fbg ded & ? o 99180 | 3
Explain the terms analogous and homologous organs with diagram.

J72rdT OR
Strared fhe ded € ? foF 918y | 3

Explain fossils with diagram.

19. FEBHI &F 3T T FAS ¢ | FHDII g1 Y@l dl faerwarg forfRay | f) amrars
FADBR RISl §RT U~ DI &5 DI G&RIT B4 & oIy nmaedsd = a918Y |

3
What do you understand by magnetic field? Write the characteristics of magnetic field lines of force.
Draw the necessary diagram to show the magnetic field produced by a current carrying circular coil.
OR
fae[a Hiex {5 Mg R BRI $Rall © 7 3Mawasd (o 9rhx SRV AHeisy | fagd de”
& QT SUART §a8Y | 3

whatis the working principle of a electric motor ? Explain the working of it drawing the necessary diagram.
write down two uses of electric motor.

20. 5T & dgd qeed $I A [l | | saeds A™e Affhar T gd Arifeha
IEEKEIERT 3

Write the method of electrolysis of water. Give its essential chemical reaction and draw labeled diagram.

OR
T4 AS B BT BT DIUR Aehe & (Ao H AT ST & Al [ &1 T I 98l Sl & 7
eI ford 91 §Y WY | 3

Why does the colour of copper solution change when an iron nail is dipped in a solution of copper sulphate?
Explain by required diagrams.

(@S )
T U 21 9 22 @ Swx fafay (s T 250 1)

21. (i) R=g f5d dead € ?
(i) AT BIRET (RRMA) & S 9d8Y |
(iii) T3BT BIRTRT BT AHIfPT frF a9 187 | 4
(i) What are synapses called?
(ii) What is functions of a nerve cell (neuron).
(iii) Draw a labeled diagram of a neuron cell.

311dT OR
(i) AR BT PIAT 9T IRR &1 RART T FJAT BT RV BT © 7
(ii) Ifeod fohamell & &1 Sarexvr foIRkay |
(iii) AT ARTSH BT AHifbd ot 9187 | 4
(i) Which part of the brain maintains the posture and balance of the body?
(ii) Write two examples of involuntary actions.
(iii) Draw a labeled diagram of the human brain.

22. Mifery o9l & forg forg &1 aRuTdl &1 |AsIEY | f¥l sraddt o &1 ®Ied g3 15 cm 2 |
fredl fama &1 o 9 fha g0 W < & 59 ufdfe o 9 10 cm 0 R & | o9 gRT
IO e A ST BT | ST o gIRT 9994 dTel Ufifew & forw fovor fom 9918y Siefd
fe9 @1 2F, 9 F, & d19 @1 WITdT © | 4

Explain the convention of symbols for spherical lenses. The focal length of a concave lens is 15 cm. At what
distance should an object be placed from the lens so that its image is formed at a distance of 10 cm from the




lens. Also find the magnification produced by the lens. Draw a ray diagram for the image formed by a convex
lens when the object is placed between 2F, and F; .

OR
15 cm HIHE G & U ddel U &I ITANT dxXab g4 (bl 99 &1 e ufafes g9mr =med
2| 9% &1 U0 | O &1 aRER 1 BFT A112Q | ufdfam @) gaft g seR W fewell forfy |
g Rerfd # gfafdw a9 &1 fbvoT RF 99188 | U U0 §RT ST 3fael +1 8 | g1 3fef 8 ?

4

Using a concave mirror of focal length 15 cm, we want to form an erect image of an object. What should be
the range of distance of the object from the mirror. Write a note on the nature and size of the image. Draw a
ray diagram of the image formation in this situation. The magnification produced by a mirror is +1 . what is it
meaning ?

23. 1 & AT 3P DI AMHAT BF TR AMRIT: AT I Fherd! § ? U SaERY & gRI
[HSY 39 I D1 SURATT DI Sifd My BT | My o off a9gd | (142+1) 4
Which gas is usually released when an acid reacts with a metal? Explain with an example how you will test for
the presence of this gas. Draw required diagram.

OR
HIg G1g AE A T TESITARSD Il & 1T AMAHAT BT 2 AT Jagarse =1 ardil 2 qofl
S S~ I Sfelddl AFE< DI gl <dl & | °rg JIfh 'A' Td IO B drell I B AH gl
g0 gof ififran & fore wwgfora IRamafes a¥iavor foalkad | (1+2+1)4
When a metal compound 'A' reacts with dilute hydrochloric acid, effervescence is produced and the gas
produced extinguishes a burning candle. Give the name of the metal compound 'A' and the gas evolved. Write
the balanced chemical equation for the complete reaction.




HeT — 104

fawg — amfore fasm

UT9—9F PI I

Ay — 2 g 45 fe quries — 80
1) IqaW Bq IAPIR —
. SEGERD) SICRIN gfcrerd
1. |9 28 35%
2 RCEIC] 32 40%
3. | f¥reafad / ST 16 10%
4 AfeThdT / PIeTel 04 05%
T 80 100%
2. Ul & YHRIR JHIR —
9. T PEE ufererd Tl BT J9g
1. aq?jf%ma 124+6= 18 1 18 36 17
2. | JAfergeRIAS 12 1 12 24 15
3. | TERRIHD— | 13 2 26 26 31
4. | TERIHAD — I 04 3 12 8 35
5. | fdeTH® 03 4 12 6 67
T 50 80 100 165
fAdhed ot : IR D
fawa a8 a1 PR —
®. fawa a%g IHINR ufaerd
1 | IR H IEAIE BT I8 7 8.75
2 | YRd ¥ Igarg 7 8.75
3 | yHvSdlRd f9ed &1 g+ 6 7.50
4 | G9™H g faerg 4 5.00
5 | g Tda=g Sild SR 4 5.00
6 | ol aqred 4 5.00
7 | @ 4 5.00
8 | Wfiel Td SOl GATe 4 5.00
9 | Al &I IRierl 4 5.00
10 | 9dlg 4 5.00
11 | olfha—=T IR fafderar 3 3.75
12 | ofa, G99 3N ol 9ol 5 6.25
13 | 9Tl G9Y 3R 3l 4 5.00
14 | fdom™ 5 6.25
15 | IRAY 3TIqRI B &b 5 6.25
16 | IaT 3R ARG 5 6.25
17 | ITIHROT IR URAT gL 5 6.25




U9 g i

BT — 10 vy — gmfoie fasm qulih ~ — 80
F4 WY TR /U TR M A TN /SRt Freret / Aerdet N
. || : . | Fler b E g 18
¢ E g Ble & Ble & d
1 | WU H AR BT I 21) | 3(1) 1(2) 1(1) 7(4)
2 | RT ¥ rgare 1(1) 2(1) 4(1)* 7(3)
3 | yHvSlRd faed &1 g 1(1) 1(1) | 2(1) 1(1) | 1(1) 6(5)
4 | 99EE U9 fae 2(1) 2(2) 4(3)
5 | 99 Udag Sild AT 2(2) 2(1) 4(3)
6 | STel a9 1(1) 3()* 4(2)
7 a@fﬁ 1(1) 1(1) 2(1) 4(3)
8 | Wfe Td SOl G 41)* | 4(1)
9 | Al Bl ARG 1) (1) |21 4(3)
10 | HYdTe 2(1) 11) | 1(1) 4(3)
11 | Arpd—= AR fafaerar 1(1) 2(1) 3(2)
12 | Sifd, 99Y 3R e 2(2) 3(1)* 5(3)
AT
13 | ST oY 3R 3Tl 4(1)* 4(1)
14 | fdem™ 1(1) 2(1) 11) | 1(v) 5(4)
15 | IRAY 3TIIRT & 1(1) 1(1) 2(1) 1(1) 5(4)
&h
16 | &l 3R ARG 2(1) 3(1) 5(2)
17 | ITHROT N IRAI 22) |1(3) 2(1) 5(4)
SrefergRen
9(9) | 4(4) [12(6) | 3(D) 7(7) | 56) | 12(6) 8(2) 2(2) [33) | 2@) |93) 4(1) | 80(50)

famedl & AT — UH. 17 9 23 § o AR by B

Alc— PISh § dEX B HE&T 3Pl B gar Fiax ye+l & Dad 2 |
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el & forg amr= fder —

GENERAL INSTRUCTION TO THE EXAMINEES:

1. TEmeft adueM uE U U W ARG Afara: ford |
Candidate must write first his/her Roll No. on the question paper compulsorily.

2. T g PR Sifard R
All the questions are compulasory.

3. U Ue B SR 41 T8 SR gRaa 3 & fod |
Write the answer to each question in the given answer book only.

4. 59 w1 § amaR® @ve ® S 9l & SR P IR & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

5. U9 T3 B <l W SRl wumRyr § 5 ger @ R/ R/ fRemE g W) R=h
ST & U BT F& A |

If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.

(@vs 3)
qgfapedt ue
ge—01 =1 Ul & SR &1 WEl fAdbey =7y eR Sk gRas # fafy —

(i) 1929 T BRI AR =t § | Haf gor o ? 1
(&) gemEaTs (&) Berd
(w) @R (2) =
Where was the Congress session of 1929 held ?
(A) Allahabad (B) Kollkata
(C) Lahore (D) Madras

(i) S geld fhaat ufds & ? 1
(31) 3SR @) wiffa & =8

(%) T TI YT BT AT () s=TA



What does the German Oak symbolize ?
(A) Being freed (B) Willingness to make peace

(C) Beginning of a new era (D) Heroism

(iii) ST g9 FHET ¥ fha AT B WU Bl Ty ?

(1) g (@) SfcRisi ga1 P

(@) fawa w@men HeT () Tt

Which organization was founded in Bretton woods conference ?

(A) UNICEF (B) International Monetary Fund
(C) World Health Organization (D) UNESCO

(v) AT 3R fhd UBR &1 FaRH & ?

@1) FdERT ARy (@) vare
GIRSE] (8) 3FdIaHRoT Ay
Which one of the following type of resource is iron ore?
(A) Renewable (B) Flow
(C) Biotic (D) Non renewable
(v) 39 & e 1 # Feverell T I w9 9§ UTs oIt § 2
(1) o @) 99 iR HEIR
(%) wERTS () IS
In which of the following States Arid Soil is predominantly found ?
(A) Rajasthan (B) Jammu & Kashmir
(C) Maharashtra (D) Jharkhand
(V1) UIoTde CT8IR @ YRH3MT hd Bg 7
(31) 1974 @) 1973
(|) 1975 () 1976

When did Project Tiger start ?
(A) 1974 (B) 1973
(C) 1975 (D) 1976

(vii) STiefdT ¥ad=—= ¢ e g7 2
(a1) 1948 (@) 1949
(|) 1950 () 1951

When did Sri Lanka become an independent India ?

(A) 1948 (B) 1949
(C) 1950 (D) 1951

(viii)) D= TF 5T b 7Y faum) ifeRT @ fhaw Ry | dfer mar v ?
(@) < (@) <=

193

(&) TR () df=



how many parts are the Legislative power divided between the center and the state?

(A) two
(C) four

(B) three
(D) five

(ix) T8 &9 <iffre fawToT= @7 919 BRd € O SART AuT B 2 |

(37) & &R gy & = Ifdd R

@) FATST )T E 3R gHY Bl &l g AFA YHBIY

() aTeID MR FIfTHIRI BT F=AT HT T

(@) <NrarfI® raxensii § AR & Aqe™ B JIGR 7 fHew|

When we speak of gender division, we usually refer to :

(a) biological difference between man and woman

(b) unequal roles assigned to men and women by women

(c) Unequal child sex ratio

(d) Absence of voting rights for woman in democracies.

(x) HET 3 @ qTedT < ' —
(31) AT I IHRDI
(@) =+

The low middle income country is ?

(A) United States America
(C) China
(xi) 3TENRTS &5 PHel ST & —
(@) rafies emd
(®) qefrre e

industrial sector is called ?

(A) Primary Sector

(C) Tertiary Sector

(B) India

(D) Japan

@) fado®w e=®
@) e em D

(B) Secondary Sector

(D) Fourth Sector

(xii) Taf=T <=1 & 19 IREOR HaY AR AT YHIBROT BT Ufhar § —

(1) IERIHRT
(|) xrergeRer

@) frotraxoT
(T) dedraoT

The process of rapid integration or interconnection between countries is —

(A) Liberalization

(C) Nationalization

(B) Privatization

(D) Globalization

ue €. 02 Raa wrm=l & gfef #ifo—

(i) STBYDBT H oo A dHRT GE TSl 1880 ® DG b IMRANT ATl H faxars @ |
......................... disease first appeared in Africa in the late 1880s.
(i) TRA B BA .o gferera Wimfere &9 W) a9 Refd € |

The forest is situated on the total geographical area of ..................... percent of India.



{T7) J— 3= ST el | HeHd IR S8 3107 | AT A &I RO R SIRT © 2

...................... based on the notion of discrimination against other caste groups and treating them as s
eparate from our own?
(iv) ATa fderr Rard <2l &1 o v wR, wWRed R 3R ... P IR TR BT 8

Human Development Report compares countries on the basis of educational level, health status and ............

(v) frT qor & iR vl faRIy a9 o Iafed |41 sifo agel iR wamsil & & ...........
PEl 2 |

The Value of all final goods and services produced within a country during a particular year is called ................
(vi) TERTSETT HUfat gIRT fovg T e &1 PEd T |

Investments made by multinational companies (MNCS) are called .............

TS ¥, 03 IIITIRIS Yo (T BT SR T ¥Ieg I U Ufead # )

(i) FRfAfearT oreg & o9 @7 FH=d & 7

What do you understand by the word indentured labour ?

(ii) et (FYenfirer) fsy ded ® 7 1
What do you mean by ' Veto' ?

(iii) T8 P fhADBT & ? * T9 B BIdhdT & Al 9! JRY Bl Fal—b™ & Il & |
Whose statement is it that " When France sneezes, the rest of Europe catches cold."

(iv) a1g fRIF0T =g ®IE TH U G ? 1

Suggest any one measure to prevent flood control.

(v) IRT @ STR—YdI A1 H P S8 BIY Bl R HET Sl & 7

What is the name of Slash and Burn agriculture ? In the North Eastern States of India.
(vi) f=fT T N1 a1ell Bl T AT 9arsy ?

Name any one Fiber crop ?

(vii) ITSSTIA =1 1970 W 1973 & 41 G ot Amed oy |

How many amendments did Belgium make between 1970 and 19737

(viii) T & BB | T e 7 7

What is meant by decentralization of power?

(ix) P, AT R A 9T & T T Faar o ?

What did Carlos, Smith and Norman trio have in common?

(x) TABIONT A qAT TR AANGIONT AR BT Uh SaTexvl STy |

Give an example of renewable resource and non-renewable resource .

(xi) JFARFT ISR & Fold BT Py U SUF Gy |
Suggest any one measure to create more employment.

(xii) TTITRROT BT UfHAT DI IURT A ATl &I HRP DIFAT © 2

Which is the major factor for stimulating the globalization process?




(@vs 9)
ALIRIAD YU ¥. 04 ¥ 16 B Sk [RAY | (ITe3 AT 50 713

4, M AR ¥ fha—fhd a¥gell &1 R gar o ?
What goods were trade through the silk route ?

5. faoeT A & ugg Sewy fafay |

Write the main objective of the Treaty of Vienna ?

6. SifordfdTel a1 BTdhIvs WR fewofl forfgy |
Write a notes on Jallianwala Bagh Massacre.

7. TolSl—21 & & I F|T 8 ?

What are the main objectives of Agenda-21 ?

8. HdhcIRe Il W U wfera fewoft foRay |
Write a short note on endangered species |

9. YRAT FHY TR ILIHRI & JHId DI WL DI |

Specify the impact of globalization on Indian agriculture |

10. gAIATE Bl TR @ & oY siciddT IRBR §RT DIA—DH A HeH Io T &
What were the steps taken by the Sri Lankan government to uphold the majority issue?

11. e oA SraReNT ¥ SN AT I § 7

What do you understand by federal system of government ?

12. ARG faWTor dorr oI fhd UaR o I fid § ? R o ?

Explain How social divisions and politics are intertwined?

13. fApra &) yRoNTar | MU =7 HSd 2 ?

What do you mean by sustainability of development?

14. AGSIH &% a7 o &5d H ISTER0T Afed AR WK HIY |
Clarify the difference between public sector and private sector with an example.
15. YRA H AUAIRS &5d § ARG & fhal aT Fial DI ARAT DI |
Discuss any two sources of credit in the formal sector in India.

16. YR ARPR gRT faesll IR W 3RIETd T b fhsl ST BRI BT Sooikd HIOTT |

Mention any two reasons for putting barriers to foreign trade by the Indian Government .

(@vs w)
e SR YU 17 ¥ 20 & S« faiay ( wes A1 100 k)

17. Tiferaq <fedr @) faevyarnd forRau |

Write the features of Napoleonic code |

3feraT OR
SitereRTgT we @1 fagard foafey |

Write the features of zollverin union |



18. 37T & IR, U1 & AREIT 3R Jae # 91 fhd SR 788 I © ? 3
According to you how dams helps us in conserving and managing water ?

OR
q¢ | 919 & oY BIS T el U Gesy | 3
Suggest any three safety precaution of flood.

19. 377U IFAR AGTADHAT HH Tb FAKil © DIy A db [offgy | 3

according to you how communalism is a challenge Write any three arguments.

OR
ST ST R R & ol U+ A geia ferfag 2 3
Write your three suggestions to remove caste inequality ?

20. AT S B8 Fdhd o [P JaT MAWIRATAT & GTeY JANT B TRA DI TH PR ol © 2
U 3R | TSNV T IS | 3

How can you say that money eliminates the need for double coincidence of wants? Explain with an example from
of your own.

OR
3o Ihi A g DI b W Aeraar Fqg 0T &5 & TIdl bl FIfSd &R+ § Aag dd | 3

Prove with your arguments that self-help groups are the building block of organization of the rural poor.

(@vs 3)
fRereTe - 21 9 22 & SR faRaw ((Iss T 250 IR)

21. IRA & T 3MRIeA H AT Tl & ARTE BT g HITY | 4

Describe the contribution of mahatma Gandhi in the national movement of India.

AT OR
AT @S T=_Td BT qUIF DITY | 4
Describe the civil Disobedience Movement.
22. 99T H " b B ol GART JAT=led” & A= RO Bl W SISy ? 4
Explain the different phases of "Second Movement for Democracy" in Nepal?
OR
JMRIHHRI Fg RIT Bld § 7 9 USRI & IR § a1y ? 4

What are movement groups? Explain the types of movement groups ?

U3 9. 23 BT SR ¥ T qFfE # Qe —

23. &I T WRA & @1 AFE § EfaRad a1 sifed S — (1+1+1+1) 4

o~
~

]



Mark the following in the given outline Map of India
(A) Rawat Bhata
(B) Nashik
(C) Nayveli
(D) Talcher

e T IRT & @ "fom #§ fAEfeRad @ sifea ifsg (1+1+1+1) 4
(@1) T

(@) AR

Mark the following in the given outline Map of India
(A) Gaya
(B) Marnagao
(C) Nellore
(D) Ajmer



U39 &Y FrorT

PelT — 10th
fowg —forg
A — 2 T 45 fAAC qufids — 80
1. I TG IAPIR —
%4 SECED) SCRIN gforera
1. | SH 25 31.25
2. | 3rgdwEr 30 37.50
3. | orfvefad 15 18.75
4. | Aiferaar 10 12.50
IRT 80 100%
2. gl & UHRAR JHAR —
3 TReT e gl BT | G
1. | RIS 18 1 18 (22.50%) 36 35
2. | SfreTeeRIcH® 12 1 12 (15%) 24 25
3. | oTEgRRTHD— | 13 2 26 (32.5%) 26 45
4. | TERRIHAD — I 4 3 12 (15%) 08 30
5. | EgTH® 3 4 12 (15%) 06 30
IIT 50 80 (100%) 100 165

el o\
[ddpbcld Yloidl @ JTdIRh

3. fawg avg &1 SPp9R —

sl fawar awg 3HIR gfderd

1| (1) I<afdd H=AQ 04 5%
2 | (o) 98U 05 6.25%
3 | () ET TRT dTel XRIPH FHIDBRT I 09 11.25%
4 | (4) T FHIHROT 05 6.25%
5 | (5) |FHTIR SO 09 11.25%
6 | (11) A 11 13.75%
7 | (7) e sanfafa 06 7.5%
8 | (8) BrpvmAfy uR= 12 15%
9 | (14) iR 15 18.75%

10 | (15) UTiUHdr 04 5%
AN — 80 100%




DHell — X fawr — 1fora qulies — 80
5. a%mg/w T RECI] TGN / Sifieafed Prerer / Afordan T
il
€ p € | p € |5 € B
1| ardid 1(1) — — — - — — | 20) | - - - - - - - - | 1(1) - - - 4(3)
2 | 9gu< - 1(1) | - - | = 1) ] - - - = | = 1) 20) | - - - - - - - | 5()
3 | &1 =T dTel
m 1(1) - - - - - - - - - 1 1(1) | - - - - - [ 1(1) | 2(1) - | 4(1) | 9(5)
g™
N e I e R e e e e R I e e I B I B
5 | FHIRR AU | q(1) — — - - - - |20 | - - - - 2(1) - - | 1(1) | - — 3(1) | - 9(5)
6 | XY - - - - - 1] - - - = 1| - | 20 | - - — 1) | 20) | - | 4() | 116)
! Wﬁﬁ 1) | 10) | - - | - | - - - - | - | - - - (80| - [ 1) | - - - - | 6(4)
8 TR ? - — | 200) | 3() | = | 1(1) | 1(1) | 2(1) | - - 1 1(1) | 1(1) - - - [ 1(1) | - - - - | 12(8)
9 | TRy 1(1) - - - - - - - 3| - [ 1) | - 2(1) — [ a() | 100) | 1(1) | 2(1) - - | 15(8)
10 | wTfiean - — o) | - | = 1) | 100) - -] - | - - e e ~ - | - | 14B)
Irr—| 56) | 3B3) | 6(3) | 3(1) | — | 56) | 22) | 63) | 3(1) | — | 4@) | 33) | 8(4) | 3(1) | 4(1) | 4@) | 4@) | 6(3) | 3(1) | 8(2) | 80(50)
faped & AT — UE. 17 9 23 A P~ AdRP fdbeT & Aic— BIoP H e P GET Bl D qAT HaR U @ eENad ¢ |




AT R 9IS IOl 3omR
Hied U39 U Areafid URier 2022
fayg— wforg
PET—10
|Y: 2 "¢ 45 fAe qUIi:80

et & forw I fAeer —

GENERAL INSTRUCTION TO THE EXAMINEES:

1. qeTeft FduE U9 YT U WX AMih SifHaria: ford |

Candidate must write first his/her Roll No. on the question paper

compulsorily.
2. 991 ge o erfard ® |

All the questions are compulasory.
3. U U BT IR &l g IR JRAdT 4§ &1 ford |
Write the answer to each question in the given answer book only.
4. RF Ul H TaIR® @oe 8 I F91 & IR U A1 B ford |
For guestions having more than one part the answers to those parts are to be

written together in continuity.
5 U3 UF & fewdl R UG wuriRel H B ghpR @ Fe/ IR/ fREmE g W
o= TS & Ue BT |E A |

If there is any error/difference/contradiction in Hindi & English version of the

guestion paper, the question of the Hindi version should be treated valid.



aifrs ge
geF—01 1= UeHl & Sk &1 Wl fddbed =g HR SR YR 7 fafay —

(i) aR¥ dw=r 129 BT TIHEAT TR B— 1
2° X5 X5’

(31) wra (@) Irid () 3r|id Arghy (®) 3r4id IATGHRT

Decimal Expansion of Rational Number 129
2°X5' X5’

(A) Terminating (B) Non Terminating
(C) Non Terminating Repeating (D) Non Terminating Non Repeating

(i) /=1 # &1 u& fgerd qgue & 8- 1
(@1 x? (@) X*-4 (A) X°-4x+4 (@) x*-3x?+3x -1

One of these is not a quadratic polynomial.

(A) x? (B) X*-4 (€) X>-4x+4 (D) X*-3x*+3X -1
(i) =1 YRgep THDHROT ITH & BA & X+Y =4, X-Y =2 1
(31) x=3 v=1 (@) X=1 Y=3 (|) X=Y =2 (3) X=4 Y=0

Which is the solution of linear pair equation X+Y =4, X-Y =2
(A) X=3 Y=1 (B) X=1 Y=3 (€) X=Y =2 (D) X=4 Y=0

(iv) fr=foRaa & 9 @19 fgard IeRo &1 8 B+ &I U fafdy g— 1
(@1) Torgvs fafy @) ol o iy (@) fgod 93 (]) SWaa @

Which one of method use to solve quadratic equation -
(A) Factorisation (B) Perfect Square  (C) Quadratic formula (D) All Above

(v) STHTR 8107 4,10,16, 22, BT YU UG 3R ATIRR T 8IT— 1

(@7 (10, 5) @) @4 6) () (4, 10) (%) 6. 10)

Which is the first term and common difference for Al 4, 10, 16, 22.................
(A) (10,5) (8) (4,6) (C) (4,100 (D) (6 10)

(vi) 3.5 T 3T aTel 9 T AT BRI 1
(@1 6 H @79 (@) 85 AM (]) 3T | DI ol

Radius of a circle is 3.5 cm then Dimeter of circle is -
(A) 6cm (B) 7 cm (C) 8.5cm (D) none of these

(vii) f8=5 (=3, 5) DI ¥ Tere # BRT— 1
(37) e @ e @) T () =ged



Point (-3, 5) belongs to in which quadrant -
(A) First (B) Second (C) Third (D) Fourth

(viii) tan 45°+ cot 45° T A BT —
(a1) 1 @) 2 @) 3 () o

Value of tan tan 45°+ cot 45° is -
(A) 1 () 2 © 3 D)o

(ix) cos (90°-48°) T AF BN —

3) sec 480 ) tan 480 ) sin 480 <) cot 480
(31) @)

Value of cos (90%-48°) is -
(A) sec 48° (B) tan 48° (C) sin 48° (D) cot 48’

(x) 71 % & T& AT A9 AR BT G T8 © —

(37) X @) >x +ah (%) >fx ()
n n N

(x) One of these is not a formula to find mean -
(A) 2X (B) 2x+ah (C) 2fx (D)

n n N

(xi) =1 &7 9gdI® S BRI —

5 7 9 11
f 4 8 6 2
@19 @) s (|)7 (?) 11
(xi) Find the Mode of data-
X 5 7 9 11
f 4 8 6 2
(A) 9 (B) 5 © 7 (D) 11
(xii) FfaRaa & & BT Gt B a1 &) UTiRidar el 81 Fdhdl —
(@1 2/3 (@) -1.5 (|) 15% () 0.7

Which of the following can not be the probability of an event -
(A) 2/3 (B) -1.5 (€) 15% (D) 0.7

Q-2 Fill in the Blanks :-

frforRaa usAl # Rad vl &1 gii a)d gU Sk gRaer # forlay—

Sfd

>fd



b1 cl

(i)uf%:a—1=——— B I IHHROT BT BT A BT § — 1

a2z b2 c2

al b1 cl . . . L
If — = — = —, then solution of linear pair of equation is ..................
a2 b2 c2

(i) ST 10, 8, 6, 4 oo BT 7AT TG e = 1
7" Term of AP 10, 8, 6, 4ueveeeeeeeeeeeeeeeeeeeeeenns IS woeereeeeeeeeeeeeeeeeeee e
(iii) THel aTE 5 A G W 9T GG Wi S Al © | 1

How many tangent drawn circle from point of out site the circle ..........ocovvvveeieinnnee.n.
(iv) Ficere SaTfafe | a1 fa=gall & dra &1 O S0 R BT oo g | 1

Find Formula for Distance between two points in a co-ordinate geometry is.................

(V) SiN(90%-8) = oo, 1
SiN(90%-80) = oo
(Vi) ST 7,4,6,3,8,5,9 DT HATCTDT ...oooooooeeeeeeeseeeeeees e Uil 1

Median of distribution 7,4,6,3,8,5,90S .....cccoevvrrrrrreeerrerrrnnnnnnn

qir — 3
PART-A

U3 4. 03 aﬁw RG] (Very Short answer type ofquestions)

(i) T H=T3I BT [OHEBA 180 T TAT HAEwH FHYANSD 3 © Al Tgead FHYIacd I1d
PRI ? 1

If Product of two numbers is 180 and HCF is 3 then find their LCM .

(i) X2+3X+1 DI X-2 ¥ N7 &1 WR AYhe SMd HITT ? 1
Find the reminder if X?+3X+1 divided by X-2
(iii) UG X?-6X+7 H YDl BT ANT 3R [oH fIRay ? 1

Write the sum and product of zeroes of polynomial X?-6X+7

(iv) BT TR dTel FHIHRYT T &1 8 AT 89 &1 o falRae ? 1



Find the condition of unique solution for pair if linear equation in two variables.
(v) feama Fiasor 2X? + 3X+4 =0 ¥ H@l &7 INT Fa diforg ?
Find the sum of roots of quadratic equation 2X? + 3X+4 =0
(vi) fgard |AHIeRvT & el S B & ford ol eRmemd g3 foriay ?
Write SHREE DHARACHARYA Formula for finding roots of quadratic equation.

(vii) fpelT g0 @1 BT &R I9 R G T8 Wel W & w2 fhaq f$U &1 B
gIar g ?

Find the triangle between radius of a circle and tangent of circle .

(viii) Frana (4, 3) # YoT IR BT AT BITY ? 1
Find the abscissa and ordinate in co-ordinate (4, 3)

(ix) A9 9 BT cos 30° — sin 60° 1
Find the value cos 30°-sin 60°

(x) TS sin 3x=1 T X BT A ST HITY ? 1
If sin3x=1 then find the value of X

(xi) ¥ 10, 12, 8, 7, 13 BT AR AT BRI ? 1
Find the mean of distribution 10, 12, 8, 7, 13

(xii)uﬁ’gﬁﬁwﬁaﬁwawmw%‘aﬁﬁmeﬁ?%aﬁaﬁm
T ? 1

Find the probability of getting a head and a tail when a coin is tossed once.

HIT — 9q
PART-B
Q-4. Jfaars favTe Al g1RT 90 3R 144 HT AEH FHYGAD AT DIOY | 2

Find the HCF of 90 and 144 by using EUCLID’S division method.
Q-5. fgard ague X -2x-15 @ YIS F1d DIy | 2

Find the Zero of a quadratic polynomial X? -2x-15 .



Q-6. f1 g T I o7 faam fAfy 4 g HIg | 2

2x+y =6, 2x-y =2

Solve the following pair of linear equations by elimination method.
2x+y =6, 2x-y =2

Q-7. orgvs fafer & 7= fgama Sfexor & qof S iy | 2
2X*+X-6=0
Find the roots of the following quadratic equations by factorisation.
2X* +X-6=0

Q-8. FrfoRaa wHiaR sioft % 9§ fha+T ug 7 | 2

Find the number of terms of the following APs .
7,13, 19, e 205

Q-9. T 3t drelt fha-T T 7 9 fayrsy g 2 2

How many Three Digit numbers are divisible by 7 ?

Q-10. 5 T oI T Q@IS Wiy 3R 9 2 : 3 31U ¥ farford
PIfoTT ? 2

Draw a line segment of length 5 cm and divide in the ration 2:3 .

Q-11. 5 T 31 & a9 WR T W Y@ GG, S WRER 60° & HIoT

R 3355 8l | 2
Draw a pair of tangents to a circle of radius 5 cm which are inclined to each other at an
angle 60°
. 3
Q-12.??I'%SlnA=Zﬂ>rcosA3ﬁ?tanAEFrWCI§a5?ﬂﬂEﬁélQI 2

. 3
If SinA = 2 calculate cos Aand tan A .

Q-13. fF=ferRad &1 79 Aoty | 2

2 tan’ 45° + cos® 30° — sin® 60°

If Evaluate the following -
2 tan” 45° + cos® 30° — sin” 60°

Q-14. 797 9 BT 91g ST BHIFT | 2
FIISIGY 25 35 45 55 65
BTl P 4 28 42 20 6
[T




Find the mean of the following frequency —

Score 25 35 45 55 65
No. Of 4 28 42 20 6
Students
Q-15. ¥ 41 &1 98l S1d DI | 2
e 0—20 | 20—40 | 40—60 | 60—80 | 80—100 | 100—120
3‘5 z E
EIECIEGI 10 35 52 61 38 20

Find the mean of the following frequency —

Class 0—20 20—40 40—60 60—80 80—100 | 100—120
Interval
Frequency | 10 35 52 61 38 20

Q-16. w%ﬁsvﬁazmﬁé%w%ﬁﬁwﬁawﬁm&ﬁw&ﬁ%l
DT RIT YUl & b FaBTell T8 TG BT ? 2

(1) g (1) arer

A bag contains 5 white and 2 red balls. From this bag one ball is drawn randomly. What
is the probability that drawn ball is .........ccvveeeeeeeennnnnn.

(i) White (ii) Red
grs— 9
PART-C
Q-17. IS AT FHAR SO & AR R TERX UQ A 24 TAT 28 BT al, 700 3

P Ugol 61 Ual BT ANThel ST HIFY |

If Second and third terms of an A.P. are 24 and 28 respectively, then find the sum of first

61 terms.

3rrar / OR
2 3R 101 @ #eg 5 | fAwIford (19) B arell |1 UTdha Gemall &l 3
ANTHSA ST DI |

Find the sum of all natural numbers divisible by 5 between 2 and 101 .

Q-18. X —31& WR T8 fIg oa PIRTY ST fdwgeli (—2, 3) 3R (=3, 4) & 9 T 3
R Rerd 2
Find the point on X-Axis which is equidistant from the point (-2, 3) and (-3, 4)

Jrear / OR

fa=gatl (11, 8) 3R (1, 3) @I A arell a1 &1 =g (7, 6) fba o urd # 3



oo @t 2|

In which ratio, point (7, 6) divides the line joining the points (11, 8) and (1, 3) .

Q-13. Sin 17° Cos 67° Sin 15°
5 +2 -6

Cos 73° Sin 23°

Cos 75°

Cos 67°
+2— -6
Sin 23°

Sin 17°
Find the value of 5

Cos 73° Cos 75°

3T / OR

R1g BT — cos*O + sin* @ =1-2 cos’H sin’0

Prove that- cos* 8 + sin® @ = 1-2 cos®0 sin’0

Q-20. 7/ IRWRAT de9 &1 9rg o @ \}ﬂ(ﬂ

B A =TT DI |

Sin 15°

E

0—10

10—20

20—30

30—40

40—50

fi

6

10

13

Find the mean of the following frequency distribution —

Class

0—10

10—20

20—30

30—40

40—50

fi

6

10

13

7

3T / OR

=1 IRERAT g1 BT dgeid I DIIY |

E

10—25

25—40

40—55

55—70

70—85

85—100

fi

6

20

44

26

Find the Mode of the following frequency distribution —

Class

10—25

25—40

40—55

55—70

70—85

85—100

fi

6

20

44

26

Yle— §
PART-D
Q-21. =1 Rges AHHRT ITH DI M@ A gRT 8 BT |
3x-5y=1
2x—-y =3




Solve the following pair of linear equation by graphical method .
3x-5y=1
2x-y =3
3qdar / OR

T IRgH THHROT I BT 3Merdia Ay gRT g IR | 4
4 x—-5y=20
3x+5y=15
Solve the following pair of linear equation by graphical method .
4 x—-5y=20
3x+5y=15

Q-22. TH 10 JH) oETs BT IEITS Gigd ITH] 2 : 3 H fa9re= HIfu | 4
Draw a line segment at length 10 cm and divide into 2 : 3
31T / OR

AB= 5 WAl WIS ®I U YERIUS WifU | g B Pl P HAFPR 2.2 94 4
3T &7 g ISV 9T 39 99 W fawg A W @ v it |

Draw a line segment AB of length 5 cm. Taking B as the centre, draw a circle of radius 2.2 cm
and draw tangents to the circle from point A.
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Find the medianof the following frequency distribution —

Class 10—25 | 25—40 40—55 556—70 70—85 | 85—100

fi 6 20 44 26 3 1
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1 IRARAT g BT 9gald =T DIy | 4

UTdi | 0—20 | 20—40 | 40—60 | 60—80 | 80—100
BT Bl 5 10 12 6 3
T

Find the Mode of the following frequency distribution —

Score 0—20 20—40 40—60 60—80 80—100
No. of 5 10 12 6 3
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